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IAS 7 Statements of Cash Flows

z}:n ;naznxzsrequircmems of IAS 7 are covered in A Level Chapter 1.1.3 Limited Liability

IAS 8 Accounting Policies

Lr:r ::Sll the title of this standard 18 Accounting policies, changes in accoun

IAS 8 provides a definition of accounting policies:

¥ <
The specific principles, bases, conventions, rules and practic ?’a?kl
and presenting in financial statements. . .

‘Bases’ means accounting methods used to implemeﬁ%li 1es;
for inventory valuation; the choice of the straight

The standard stipulates:

» All accounting policies specifically detailed in qg thé?mational standards must be
implemented. 4

» Where the standards do not cover p@cular%tions, the directors must take their own

decision as to the appropriate polw béapplied. }

Directors should base their judgmint ohtbe‘m@riding requirement to provide a true and fair
view of company’s affairs, by eqsti‘ﬁ{zg u%s are given reliable, relevant and understandable
information. ' By

» Directors must ensure t”ffitth ,,goli 'igs are applied corESGently to similar situations.
In regard to errors;é,’%e a&gm,requxres any material errors in financial statements to be

: arative figures would also need to be amended if they are

>

corrected whenﬁﬁs gvered.
affected by error. W&’% ,
IAS 10 l;'i ’ ts ‘dfte&the Reporting Period me whouk

This standardcbit&the treatment of events that occur after the date of the statement of financial
position but bet;orc the statement is authorized by the directors. The standard described two types
of events after the repeatingperiod. - g ;

vepo i
Adjusting Even j

These are events after the reporting period, which provides further evidence of conditions that
existed at the end of the reporting period.

8
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'_“We & material effect on the financial statements, they must be
No“'AdJ“'ﬂng Events

ents .
adjustmen, "&m:tthat;e ansen after the end of the reporting period. There is, therefore, no
0 i . .
matter should be discloude financial statements. However, where the mn,m_,@!gggl: ;ﬁm the

"oPosed dividends are

regarded as non-adjusti d heref \% t shown in a
state‘ncnt o - - ing events and are, therefor o ey
10 the s nancial position. Information sbout proposed dividends i shown by way of a nofe
\__f‘munts. T I 23

ustration §; Distinguishing between Adjusting gN:}A%ﬁg Events

The directors of Max; s W A
axiForm L . ) s,
2014. The directo td prepared financial statements for the, year ended ?0 September

™S were due to authori 2 - 3
December 2014, uthorize the pu!:;:&ono[ thcie ﬁ%:g statements on
= O\

! b ®
f'the directots, Thed

. mpany's accountant has
. v Oy
on-adjusting events

Fraud has been discovered which shows that the valgf certain items in

The following events have come to the attention o
indicated whether the event is an adjusting or a n

. Adjusting
the financial statements is incorrect. - ;

pt in Novembeér 2014 and will not | Adjusting
_ £2014.%,
A warehouse was floodedyin Decem 14 resulting in significant | Non-Adjusting
damage to some of the con;npaﬁi{g products.
In December 2014 tﬁ? dii%xfgrs;}??nounced the decision to open a new | Non-Adjusting
store in July 2018 T

SoméMes %erc in the pgcess of being sold in September 2014. The | Adjusting
actual seu{n?bdce"i‘was a}reed in October 2014.

N NS"‘*“@&*S“ —> Notes
IAS 16 Property, Plant Eqmment
#

This standard prescribes the required treatment of tangible non-current assets i.e. they have a
physical presence. Non-current assets should be recognized in accounts when the cost of assets
can be measured reliably and when it is probable that future economic benefits will flow to the
entity.

Non-current assets should be recorded at cost, which could include not just the purchase price
but also other costs incurred in order to prepare the asset for use: delivery charges, installation

IAS / A2 / Sir Usman Pervaiz (0300-8217417) ,13 usHLz vt oie Vo< u_&:E 2%‘*
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case of property, additional costs might include legal fees and

NO“'CUFftnt *3ets may be included in the financial statements using the cost model or the
revaluation model.

»

model: the asset is recorded at its historical cost, less any accumulated depreciation

The cost
10 produce a figyre th is called the carrying amount, i.e. the net book value.
The revaluation model:

the asset is recorded at its fair value which in most cases will be the
market value if the asset were to be sold. In the case of land and buildings, however, the
standard requires a professional revaluation to be carried out. The standard also requires that
all of 2 category of a non-current asset must be revalued. For examﬁh,ﬁ\ it would not
permussible to revalue part of a company’s property; all of the land and buildings would have
to be revalueq. ‘

>

The standard clarifies that day to day servicing cost and repéirsﬁ shouldbe répeatéd as revenue
€xpenditure to be char

ged to the income statement. Regular replacement of non-current assets,
on the other hand, can be treated as part of the carrying amount. |
Tangible Non-Current assets, with th
standard requires that the co.
straight line or reducing bal

€ expedition. of lands, are subject to depreciation. The
st of an asset is systematically spread-over its useful life using either
ance method. , .

The useful life of an asset must be detefmined by ccmiidering the following

> Expected usage of the asset. g

> Expected physical wear and teat».»;;
> Obsolescence ., M ;

> Legal limits imposed on the use of the:asset™
The standard uses the term’ derecoginition’ to cover the situation where an asset is sold or is no

longer providing any economic benefit to the company. The profit or loss on the disposal of any
non-current asset is shown i the income statement.

= N .
The standard required published accounts t
of non-current assets includes the followin

Opening a:d*ni(%gf‘hg‘éosts

Additions at cost?

Disposals at cost

Revaluation adjustments

Opening and closing accumulated depreciation
Adjustments to depreciation arising from disposals
Depreciation of the year

The net book value of non-current assets at the beginning and end of the year.

0 include a schedule of non-current ass

ets. A schedule
g information

VVVVVVYVY

)
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Iustration 6: A Schedule of Non-Current Assets

Here is
an example of a schedule of non-current assets.

Salz Ltd. |
Schedule of Non-Current Assets at 31 March 2015

Premises Plant & Machinery Equipment * Total
Cost $000 $000 3000 -, 5000
At 1 Apr 2014 1 400 450 “1108, N M1.960
Revaluation 600 - A%, B 600
Additions _ 80 I MR % 110
Disposals ) ) (200 % (20)
At 31 March 2015 2000 530 w1207 » 2650
Depreciation : \ , |
At 1 Apr2014 70 225 32 327
Revaluation (70) - - (70)
Provided in year - 53 o 18 71
Disposals - . & B (16) (16)
At 31 March 2015 ; 278 34 312
Net Book Value 3
At 31 March 2015 2000 ™ 252 86 2338

At 1 Apr2014 1330, . .. 225 78 1633

"y o, 2
T,

IAS 36 Impairment of Assets Méaws die q\a\\\) dve Yo \,,,(XX, uev\(j

The purpose of’%‘ihls standard is to ensure that non-current assets are not shown in financial
statements at a value higher than what is called the recoverable amount. This term is used to
mean the higher of an asset’s fair value (the amount for which the asset could be sold less any
selling costs) or value in use (the total of estimated Tuture cash flows). An impairment toss arises
wheremmc amount The standard requires any such loss to be recorded in the income
statement. “«:i ‘L \ess *em,\ CCMM WM by m [N ’SV)

The standard requires all non-current assets to be reviewed at the date of each statements of
financial position in order to establish whether any impairment has occurred. This requirement

includes goodwill. RQC O\)‘(Aﬁ’s\c A\mo onf

PUS
Nlp.\.re Y

(3%
vse-
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Illustration 7: Calculating an Impairment Loss

At 31 December 2014 the following information was available about a company’s motor vehicle.

Valuations Definition -~ Amount
Carrying amounts Net book value $146 000 I
Fair value Value if sold less any selling costs $139 000
Value in use Estimated future cash flows » - $135 000
Recoverable amounts  Higher of fair value and value in use i $ ?'32\ 000

-

The recoverable amount for the motor vehicles at 31 Decembér,.zd'i"4.,_}Kis ‘Iess than the carrying
amount by $7000 (i.e. $146 000 less $139 000). Therefore, there is an impairment loss of $7000
recorded in the company’s income statement for the year endec} 3 I‘”December«ZOM.

There are a number of signs that the impairment of @ non-current. asset may have occurred. For
example, the asset: ‘ : \

Is no longer in use

Has been damaged

Has become obsolete ~
Has suffered a decline in its market valﬂ§ T

IAS 30 Provisions, Contingent ﬁ%biliﬁes & éonﬁngent Assets

YV VYV

The purpose of the standard is to pmyia“efzguidéljnes for ensuring that users of published financial
Statements are properly informed of the ‘details concerning liabilities, contingent liabilities,
providing & contingent assets:,

» Arises from past events.
» Is a current obligatory of the company
» Is expected to result in an outflow of resources (i.e. payment) on settlement.

4

m‘«}, %, ¥ 4 . .
So the purchase of goods on credit from a supplier will give rise to a liability of a known value
(i.e. the amount stated on the invoice) and is shown on the statement of financial position.

N

- 23‘ . g W » » . .
Proy_mﬁxstamrdeﬁm’:d as a liability of n In other words, it is known
that an obligation exists but the amount can only be estimated. i ———

The standard requires that provisions must be shown as liability in the financial statements
where:

» The obligation arises from past events
> The amount of the obligation can be reliably estimated
» Payment is probable (a higher than 50 % chance)

IAS / A2 / Sir Usman Pervaiz (0300-8217417)
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A contingen liability arises from past events when:

: The obligation is possible (less than 50% chance)

s The amount of ‘lhe obligation cannot be reliably estimated
The obligation is dependent on uncertain future events

llfl a_l! ©ases a contingent liability is a possible obligation. The standard requires contingent
iabilities to be disclosed in a note to the accounts. If the likelihood of a liability ansing is
regarded as remote then no disclosure is required. N

A contingent asset is a possible asset that will arise from past events but only when certain future
cvents occur which are not in the control of the business. Probable contingent assets must be
dfsclosed aS @ note to the financial statements, but possible or remofe contingent assets are not
disclosed. As an example, a contingent asset would arise if a Sompany was suing another

business or individual and where, if the case was successt’uF&«_,_lha&g;»nﬁ@n%ﬂ‘\yould receive
damage' i 3 'Y »

A

“egtwAssets

i N s P
TXQ Wholesale Chemicals Ltd’s financial year ended on 31 Decem&;{ 2014, In September 2014
an accident occurred involving some of the company’s products was sued by a number of
individuals. B

Ilustration 8: Provisions, Contingent Liabilities & Conting

s 5 N 3‘§
Case 1: was decided in early December and the court requires the company to pay $18,000 to
damages.

N SN

Case 2: had not been decided by 31 December 2014, but the company has been advised that it is
probable the company will lose the case and be required to pay damages estimated at $15 000.

Case 3: will be brought befdre lhexcounﬁ*ig March 2015. The company has been advised that
there is 25 percent chance of the: company losing the case and being required to pay damages

By

estimated at $25 OOOf& \ Ny

The treatment of each of these situations in the financial statements at 31 December 2014 will be
as follows. : %

e A ]
Case Treatment in Fi nancial Statements Reason

I Liability in statement of financial position Current obligations which must be paid
2 Provision i statement of financial Probable liability; reliable estimate an

position hour
3 Contingent liability Possible obligation (less than 50 per cent
certainty) dependent an outcome of court
case
IAS 38 Intangible Assets

An intangible asset is defined as an identifiable non-monetary asset without physical substance.

An intangible must have the following characteristics:

I1AS / A2 / Sir Usman Pervaiz (0300-8217417) } .“6 of 8




» It must be identifiable
» It must be controlled by the entity
» The entity must be able to obtain future economic benefits from the asset

Intangible assets may be purchased from an external source or might be self-generated.

Intangible assets include the following:

Parented technology, e.g. computer software
Trademarks

Customer lists
Marketing rights
Franchise agreement

VVVVY

An intangible asset can be recognized when

> It is probable that the future economic benefits angiﬁﬁtablé?ftq \Eileassefwm flow to the entity,
and 4 [ B, ’
» The cost of the asset can be reliably managed % )

When their criteria cannot be met then expenditure must treated as an expense in the income
statement. il i S

Research & Development Costs -
Research expenditure arises from investigations that are conducted with the intention of gaining
new scientific knowledge of a gex;,gral‘natureg@Research expenditure is regarded as an expense to

be shown in the income statement on the grounds that it would be impossible to know whether
any economic benefit will arise.

LV A
Development expenditure arisés where knowledge is applied to the production of new or
improved products. The treatment, of development expenditure is based on the possibility that
future economicmbenefit could. arise for the business. Where this is the case development

expenditure cax%%;e treated as'_lan intangible asset (i.e. the expenditure can be capitalized) as long

-
T
> The project is capable of completion.

» The business intends to complete the project leading to use or sale
> The business can demonstrate how the project will generate economic benefit

The standard stipulates that the following cannot be regarded as intangible assets and that
expenditure must be charged to the income statement:

» Internally generated brands, customer lists etc.
» Internally generated goodwill

» Startup costs

» Training costs

B Gl A R TR S AT,
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> Advertising & Promotional Costs
> Relocation Costs

Intangible assets must be valued at either cost or at valuation:
t cost less accumulated

> Cost:.Th.e asset is shown in the statement of financial position 2
amortization (i.e. depreciation) and impairment losses. gy,
> Revaluation: The asset is shown in the statement of financial position at @ reva ued amount
based on its fair value less accumulated amortization and impairme

i

nt IQLSSCd;o% Ry,
. h
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Standard Costing
Standard Costing & Its Purposes

Standard costing is a technique that determines what a resource should cost or how long a
process should take and then compares this standard with what actually happened. In this way,
organizations are able to see how efficiently they are working by comparing what should have
been achieved with what actually was achieved by calculating a variance.

Standards will be set for material costs and the amount of material that should be used, together
with labor costs and the amount of time that a process should take. o

\:,..—;,;.%

Standard costing may be used in a variety of different businesses, but it is most commqnly found
in a manufacturing business. The most important uses of standard costmg mclude
>

Acting as a control device so that managers can compare that standard thh what sctually
happened and take corrective action where necessary /

Assisting in the budget setting process.

Providing information when quoting for a job.

Providing targets and motivation for employees.

Assisting in decision making for the future ‘

Providing costs of i inventory.

VVVVYV

Types of Standard

There are different type of standards: ™, "% %

> 1Ideal Standard: This assumesrt}i\at there® will be no breakdown of machinery, that all
employees will work at 100 % efficiency and that there will be no idle time, there will be no
wastage and that the ideal price will always be paid for both materials and labor. Standards
set on this basis is usually unrealistic.

Attainable Standard: This recognizes that ideal conditions will not always exist, that there
will be wastage of materials, employees will not be 100 % productive and machines may
break duwn ‘As a result, realistic consideration is given to these facts in setting the standards.

> Basic Standard:rThls refers to a standard set and never reviewed. Standards should be
constantly reviewed and amended when circumstances dictate.

M
The Advantages and Disadvantages of Standard Costing
Advantages

> By comparing standard costs with actual costs, managers are able to con
more effectively.

» Productivity should improve as a result of increased motivation of sta
achievable targets.

Standard Costing / A2 / Sir Usman Pervaiz (0300-821 7417) ———
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» Budgets and forecasts can be prepared more easily due to the standard data having been

Diudvant.geg

» Sllﬂdlnds must be

andcosllyp

> Standard costs are more suitable for businesses with established repetmv?ivcm
Investigating the Reasons for Variances

®
When variances have been calculated, managers will want to k&q why dmr budgeted figures
are different to what actuall

y happened. Variances on their own do not mlamany differences,

they only highlight areas that require further investigation'by managers té.cnable corrective
actions 1o be taken.

There are many possible causes for variances to ar%d \art}hsted below.
__ Variance ' Direction ' | Possnb\Cause
Higher pricw changed by supplier.
Uhexpected delivery costs.
A Y »H Better quality materials
"~ ™ No bulk discounts
Searcity of materials
wc?pncw changed by suppliers
Lower quality materials
Unexpected discounts

rcvnewedreguluﬂyandnftheyamended if they are to be use.
m"y information and maintaining the system can be a time consuming

Material Price Adverse

Lower quality materials

Theft, deterioration, obsolescence
Lower skilled workforce

More skilled, efficient workforce
Efficient production processes
Higher quality materials
Unexpected overtime
Productivity bonuses

Higher skilled workforce

Pay increases

Favorable Lower grade workforce
No overtime bonus paid

Standard Costing / A2 / Sir Usman Pervaiz (0300-8217417) 20f3
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Labor Efficj
eleney Adverse Lower quality material

\ Lower skilled workforce
’ Lack of training or supervision
I Machine breakdowns

Bad working conditions

. I Favorable More skilled workforce

Better quality materials
Better training/supervision
Advances in machine technology

Sales Price
Adverse Respond to increased competmon

Respond to changes in fastuon
Respond to lack of dema’nd

Favorable Lack of competition

Better quality product'so hrgher demand

Market leader . "
Sales Volume Adverse Changes in trends/fashlcm /

Loss of market shares,

Low quality'resulting in lack of demand
. Favorable % k4 Changcg in trends/fashion

7Y ngher qu lity increasing demands
Lack g’ supply by competitors

StandardCostmg / A2/ Sir Usman Pervalz {0300—8217417




Ratios

Formula

Gross Profit % = Sross Profit
| Net Sales x 100

‘Description
Atleast 2.5% is considered good. Higher shows

that company has monopoly. Lower shows
competition in the market.

P T | |
’ et oot s 100 Atleast 10% is considered good. Higher means

Net Sales
that company is keeping proper control on

expense. Lower shows poor internal control.

{ ) - ~. . c e o N i :
Bt aa Curl::r:: Lt.'A:Titis Current ratio should be between 1.9-2.9
iabilit , N
Aci . Current A Ny " Acid test ratio should be between 09-1.4
cid Test Ratio = T If the aboveé ratios are below. in limit, it means that

Current Liabilities

_ o e e e
- Acid test ratio is known as quick ratio. company will not be able'to pay liabilities on

Above limits. means that cost reserves are not
properly used to generate more income.

Credit Purchases

g7 Tk bgher T b ter but generally 10 times "
SHEmBFiSwektlasng stmci‘z(l;l b} h " considereds,goodh, Low ratio shows that huge
1 4 :
Stock turn = ~ Verage Stogk (?n:o 52 ?Jrn‘:g&ss amount is stuck in closing stock and business
ts of > .
A ostsofgoodssold | 365 for days / g | mighvface cash shortage in futhr®.
Debtors Days = E—D—;b———m— X 365 . 3 Below 30 days shows the good credit policy.
B l:e »lt Sales o oy Above 30 days increases chanceﬂsnof bad debts.
Creditors Days = __ Creditors 3¢5 - \Belbuvrv 30 days is good. Above 30 days means that

‘{company is not paying liabilities on time, so it will
 be difficult to get moreﬂcredi‘tvir”l" future
The lower the better

B

Fixed Assets to Sales = 2SS4 o 10,
e NetSales.: "y W

Sales to Fixed Assets = —oao The higher the better
: i e FxxegAsPset?,,b : R - S O —— S I y .
t t t t 1 1 5

Return on Total Asset - ; A:;et; fct?re mt:”:;ts % 100  The higher the better are these ratios, lov\fer ratios

Return on Net Assets “1 g § i shows that assets are r}ot prope.rly utilized to |
Net Profit beforeinterest ~ 7 % 16 generate more sales. Higher ratios shows that |

Fixed Assets+Cur fe«,!?f‘mSASF\S"Cuf rent Liabilities assets are properly utilized to generate more sales -

N by the company.

Overall Analysis

The company having worst ratios needs to apply proper internal central system and should
took for new markets and outlets to improve the ratios.

The company having good ratios should continue with its current activities in the future.

igeting/ASSisman Pervaiz (0300-8217417) T 1oft
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Manufacturing

Manufacturing account is prepared to calculate cost of production for the year
Prime cost means addition/submission of all direct cost.
enses

Prime cost = Direct Material + Direct Labor + Royalties + All Direct Exp

es + Factory Overh“ds +

Opening Work in Progress ~ Closing Work in Progress \

Factory Profits/Unrealized Profits e
E%ds father purc '

One of the main reason why businesses manufactures their oW g ‘ Mj\ﬂ utside

purchase. The difference between cost of mmufncmringw i

Factory Profit.

and calculate transfer price. Q

Factory Profit is a non-cash profit. The amount of&mm inv mcludeu amount of factory

profit in its valuation. This means we are wmg again®t prudcnge COMG’P‘ which disallows any

This provision for unrealized should bememewlY” myo«hcrprovisi?n. It is

always calculated on inventory of finished goods. Ani}hmge in provision, if increase will be an

Total Cost of Production = Direct Material + Direct Labor + Royalti

from another buyer is because goods can be manufacture : o far 36
mery?mﬁtxsumllycdwlmdbynddmauppu‘cc '

expected profits. Therefore, we need create a provision forany profit on unsold inventory.
cxpenscmdlfdac:memldbenmsmx\‘

Manufacturing / A2 / Sir Usman Pervaiz (0300-8217417) 10f 1




Variances

(1) Sales Variance
i i Standard Selling Price)

Sales Price Variance = Actual Units (Actual Selling Price = 4 Units)
e Vari = { Units — Standard Units .
ance = Standard Selling Price (Actua (Standa rd Selling Price X

Sales
Yo
Total Sales Variance = (Actual Units x Actual Selling Price) —
Standard Units)
(2) Material Variance
Material Price Variance = Actual Quantity (Standard Price = Actual Price) |
Qu y( tyefor Actual Umts — Actual

Material Wage Variance = Standard Price (Standard Quanti

Quantity)
Total Material Variance = (Standard Quantity for Actual Umts

Quantity x Actual Rate)

s Standard Rgte) > (Actual

(3) Labor Variance N

Labor Rate Variance = Actual Hours (Standard Rate Actual Rate) s "
Labor Efficiency Variance =Standard Rate (Standard Hours for Actual Units — Actual Hours)
dard Rate) — (Actual Hours X

Total Labor Variance = (Standard Hours for Actual Umts x Stan

Actual Rate) .
(4) Variable Overheads Variance = F%'Xe@Vmablquerheads _ Actual Variable Overheads

Total Quantity Variance :
Quantity Variance = Standard Contnbutlon Per Umt (Ac

Quantity Variance = Flexible Budget Pfoﬁt%’“ Budgeted Profit
% £ i
¢ M ot pProbtall

I~ mcmul%h% b’r}voaf“ hedSe |- pmh"‘* wi

0“'4'7"*@_\. oN M‘C‘ﬁe’«zd ey c [ Sat®> Oslimme UanTn(e -
.
Jr\ ?‘C’(Oﬁm(«?\& o may v huob,c‘r ")rqur‘\w,!\,‘ ﬁf&x,\;(( pmhkq”

UOf’Ml Qf’t }'UL\ALI\ ex(oflr Q\/w‘.ﬁ] ORI
#

tual Units — Standard Units)

1of1
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Fixed Overhead Varinnces

Fixed Overhead

Fixed Overhead

Volume Variance

B Fixed Overhead
§ Efficiency Variance

% L
(1) Fixed Overhead Expenditure Variance = Budgeted dVerheaq-— Actual Overheads

(2) Fixed Overhead Volume Variance =%OAR (Actual Units — Budgeted Units)
(3) Fixed Overhead Capacity Variance = OAR/Hour (Budgeted Production Hours —Actual

Production Hours) N,
(4) Fixed Overhead Efficiency Variance's OAMHom (Flexed Production Hours — Actual

Production Hours) *“x P, %
(5) Total Fixed Overhead Var?ﬁce Absorged Overheads - Actual Fixed Overheads

Fixed Overhead Variances / A2 / Sir Usman Pervaiz (0300-8217417)
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Partnership Dissolution

Steps of Realization Account
‘ .. h at bank and
(1) Written off all assets given in the statement of financial position (except €23

Loan to Partner)

(1) Realization xx

Assets XX
;on (except loan from

(2) Write off all liabilities/provision in the Statement of the Financial Posit

Partner and Bank Overdraft) Dt U

(2) Liabilities/Provisions Xx
Realization XX

(3) Enter the proceeds Sale of Assets

(3) Capital A/c/Bank xx
Realization XX )

(4) Enter the payments of liabilities & liquidation e);bepses

(4) Realization xx S
Bank/Capital A/&XXq,
Y

m Sta”tementof Fmanaal Position.
t Capital A/c.

sl Post b/l of Capital Account fro
Sl Write off Current A/c balancgg, of each partner agains

Debit Balance (Negatlve) ’*ﬂ A g%Credlt Balance (Positive)
Current A/c xx

Capital A/c xx g
A7\x%"‘“ ‘ Capital A/c xx

Current
B

sl Write off any | |oans or glven or recewed from partner against Capital A/c.

Loan from Partner

o Loan to Partner
CaputalA/c X% Loan to Partner xx
2N Loan to Partner xx Capital A
% » s‘%’ P /c xx
and

SIV Reverse pogt all transactions from realization A/c

Partnership Dissolution / AS / Sir Usman Pervaiz (0300-8217417) T




Activity Based Costing
Introduction

The fundamenta] difficul
Knowing the cost of m
production,

ty in costing is trying to establish an accurate total cost for a prodmfct.
aking a product is critical to the success of manufacturing organizing

>

" It forms the basis for deciding the selling price of the product.

It helps manager to know whether the business is truly competitive and whether they
need to focus on reducing costs.

It helps managers know whether part of the business’s outputis no longer.economic and
should be abandoned. :

»

It .follows that if a business fails to accurately assess the cost'of it§ produgfs; eithéy the business
will make insufficient profits by charging too little for.its products, or alternatively it will face a

fall in demand because its prices have been set too, high in“what may be a very competitive
market.

There is no difficulty concerning the allocation of direct costs of materials and labor to a unit of
production. The problem that every costing technique‘ attempts;to address is how to ensure the
absorption of overheads. Traditional methods use what may be called a simplistic approach by
dividing overheads by the number of machiine hours-or labor hours to determine an absorption
rate. These methods can provide rather poof quality inférmation for managers, particularly as has
been seen in times when overheads over increasingl; formed a higher proportion of total costs.

% ;
Activity Based Costing (of‘teniv_cali?SdAAbﬁQ aﬁi’maches the problem of overhead absorption with
far greater precision, enabling a more accurate determination of the cost of making a product,
leading to managers having % opportuhity of setting a selling price which can produce the
desired level of profifs.while also-being competitive. ABC is useful in service industries as well
as manufactuﬁng_gndustriesi%& ,j

;{?3&

The @oncepéqf Activity Based Costing (ABC)

ABC is w:}?&vglyngg: technique that attempts to establish exactly what causes overheads to
arise, i.e. what actiiiixies during the production process create overheads costs. These techniques
then apportions these overheads to products but in proportion to the activities caused by the
manufacture of each products but in proportion to the activities caused by the manufacture of
each product: the more a particular product causes an overheads, the higher the amount of the
overhead that will be allocated.

m
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First gctivities are organized int
pool includes all the costs wh
organization. Cost pool often
usually to ensure cost pool dea
accuracy of costing a product,

© groups of costs, referred to as cost pools. In other words a cost
ich are incurred when certain operation are performed with an
coincide with departments or service centres. The intention 18
Is with a specific activity as it improves the outcome in terms of

d‘lke :OStS) lltllll EaCll:CStpO:l

Here
are some examples of cost pools and cost drivers

Machine S Cost Pool ; Cost Driver :

| e Set ups Number of times a set-up is required for particular
j . = .| products. . L S N N |
; guamy Checks | Number of quality checks required for particular products |
| naw Material Supply ' Number of transfers required, fro, stores for particular

f o o ﬁproducts. .

Transfer of Partly Finished Goods = Number of transfers from one machine'to another required

| byparticularproducts. b % %

Advantages & Disadvantages of Activity B;§ed Costi’xig (ABC)

ol

The main advantages of ABC are: & o
hi: % véﬁ‘\uw&

» It provides more reliable information,for decisxép making.
> It is possible to set selling pri(;e\s“'that will achieve the desired level of profit, because the

cost of a unit of product i_g\estdblishéd with greater precision.
. » .
» Managers will become more aware of aspects of the production process that are closely

scrutinized this technique. This may, lead to closer attention being paid to looking for
situations where costs can’be reduced by being more efficient. This idea is sometimes

called activitygased maniagement.

2 % )
The main disadvantages are ", )

>™t.is exﬁ%psive}de\%op, implement and maintain system of ABC. This is because each
asp st of the production process requires a detailed study to establish cost drivers. In the
case of éach prodﬁct it will be necessary to determine the extent to which each cost driver

affects production. N
» ABC may require an extensive program of training.
$ It is often the case that specialist consultants are required to set up the system.

» Operating a system is likely to be time consuming.

Oretex Ltd manufactures high quality garden seats. The company’s total overheads for a year are
$800 000. The company has available a total of 10 000 labor hours per year. The labor rate is
$15 per hour. The company makes garden seats to order for a number of well-known distributers.

The profit margin used by the company is 20 per cent on cost.

ing / A2 / Sir Usman Pervaiz (0300-8217417) 2of4
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Recently the 2
Abadi Ltd, izozpmy received an order for 150 garden seats of a particular design from
cost $60 per unit pected that the order will require five labor hours per unit. The material will

It has been i
B f#abhsmﬁ that the company has the following cost pools and cost drivers.
- CostPool |

; Cost Driver Overhead Cost | Forecast Order from
, . Per Year Annual Total Abadi Ltd.
M :
achine set ups Number of times . $400 000 1600setups  » 200 setups
- @ set up required | .
for  particular . )
| products | e
Inspections Time taken to  $240000 4 OOOhours* " 75 hours
Caﬂ'y Out i B 3 ’ 1*@.:\?)
.| inspections | o
Pa.lckagmg and | Number of units ~ $160 000 "+ %150 units |
- Dispatch N
TOt 8—;1 . QVE d]gé Sis 'lk-»-— B U | _,$800_00 ()g e %‘{ . ) - -

Metrex Ltd manufactures a product ¢

aged ‘tw

S,

s N )
ex’. The product comes in two forms: basic and

deluxe. L 4 :
The company has the following cost F&ls %a'?i‘d;has\'*egégblished that the cost drivers within each
cost pool are as shown. ' R

~ CostPool Cost Driver ™, Q&Xéread Cost Information about each

- :%k,‘)

%h Per Month

product

Machine  set  Number of times aset’  $21000 Basic: 2 set ups per unit

ups upi re%iggd % for | Deluxe: 4 set ups per unit
F‘pﬁcular products ‘ :
QualifyChecks’; Number- of quality |  $4250  Basic: I quality checks per unit
| iy | check% required  for | Deluxe: 3 quality checks per unit

| . Tpatticularprodvets |

! Transfer 9? Nubmber of transfers . $22500 Basic: 3 transfers per unit
Partly Finished : from one machine to 1 Deluxe: 7 transfers per unit

- Goods “another required by :

:  particular products - . B
Total L sa77s0

 Overheads | B - S ek




Durin
g January 2015 the company’s production was:

t

z - Number of Units

; Basiq 8000
Deluxe 3000

ACtIVItV Based Costing / A2 / Sir Usman Pervauz (0300-8217417)
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1) Onl . ;
Ezz h: Y revenue Teceipts and revenye expenditures are used in the calculation of gash flows.
3) A Spmvemems to the project should be considered as revenue expenditure;}
sume all revenues and expenditures occur at year end. Revenues and expenditures at start
of the year sh, G\ :

ould be considered ag part of end of previous year:, N

Cost of Capital

e e :
This is the aggregate average of interest‘and ‘dividends which the company pays on different
sources of finance. RN R

Cash Flows oy g )
(1) Cash Flow = Profit + Dep‘iegiati&‘n% My

(2) Cash Flow = Net Receipts — Net Payments
(3) Cash Flow = Sales — Variable Cost - Fixed Cost Excluded
(4) Cash Flow = Céntffbfiﬁ’og — Fixed Cost Excluding Depreciation
(5) Cash Flowsﬁ;{gcregse in lE&%’ve:xlue Increase in Expenditure Excluding Depreciation
(6) Cash Flow= Payment to Outsiders — Cost Incurred on Depreciation Project
Note[;Thg c'ds‘gof inyestmental receipts and payments is applied in the calculation of cash

S, ’% §

b |
flows¥, k. N
@é; 5 ) z%
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Joint Venture Accounting

: . - sts to work
A Joint Venture arises when two or more business decide that it is in their intere
together on a specific project or a series of project.

Features

(1) Participants will agree on profitloss sharing ratio for the Joint Venture.
(2) Each participant keeps his/her own record. (for small scale) ' .
' ‘ tained
(3) In case of large scale, a separate accounting system, a separate bank account kept/main
properly. -

Accounting Records for Joint Venture

(1) Each participant will set up a Joint Venture Account. o ™ b les

(2) Joint Venture Account will record all transactions which mvolves anl/ pmceeds from sa
and amounts paid out of expenses. "

(3) At the end of the project, profit or loss on Jomt
Venture Account. i

(4) Profit or Loss is calculated in a separate account, This account % known as memorandum
account; in which all incomes and all expenses of Joint Venture are recorded irrespective of

who received the proceeds or paid cxpensc;i_i;" e

Venture“ wnll‘ also _be ‘recorded in Joint

1of1l
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There are four metho o “APIfA investmen; ¢ be consjq

p payback tred;
p accounting rate of return (ARR)

p net present value (NPV)

p internal rate of return (IRR).
Payback

Payback is the time it takes for the cqgf, inflow

project to equal the cash outflow, Put more g

generated by Capita]
of rime that is required for the net cash inflo

Mply, it is the lengy,

ea.tru'ng purposes.



A ..

The advantages ang di
of payback Sadvantages

Advantages

Disadvantages

> Itignores the time va]

ue of m
have the same purch oney (C—g' $3000 rece

asing value as $3000 received
» Itignores the money made after ¢

ived today does e
in three yearg time),
he payback date (

considerable money might be mad
these possibilities is considered).

» It ignores the fact that different projects have different patterns

of cash flows. Some projects take longer to get off the ground yet
generate more net cash flows over a longer period.

» It ignores the whole life of the capital project. The project may last
a long time after the payback dare, during which time large cash
inflows are received and/or large outflows are paid out (for example
expensive repairs for updating the capital project). These net cash
inflows are ignored so that a capital project which makes significant
net cash inflows over the long term is rejected in favour of a capx:zll
project with a quicker payback but which only makes smaller t0

net cash inflows.



The advg
the ARR ntages and disadvantages of

Advantageg

» There

sults can pe compared with the present profitability.
> It COHSlderS the aggregate earnings of the project.
Disadvantages

» Like the payback method, it does not consider the time value of
money.

> Again like the

the cash flows.

Net present value (NPV)

In order to make a meaningful comparison between today’s original
cost of a capital project and its future net cash flows, it is necessary to
use a discount factor to discount the value of future cash flows back to
the present, so that they are equivalent in value to a cash flow now. This
enables a like-with-like comparison to be made.

payback method, it does not recognise the timing of

Using the net present value (NPV) method, the discoant factor is
called the cost of capital and is usually based on the weighted aw;:aga
' ' that is
i ’ business; that is, the average cost
cost of capital available to the . o
needed toprajse the required amount of capital to fund the projec



The advantages and dlsadvantages of NPV

Advantages

P It considers the time value of money by using discount factors.

P It includes all of the net cash flows from the whole life of the capital
project.

P Greater importance is given to earlier cash flows.

Disadvantages
» It is more complex to calculate than the payback and ARR methods.

P The life of the project is difficult to predict.
» Inflows and outflows are difficult to predict.
B The current cost of capital may change over the life of the project.

P It is based around selecting the relevant cost of capital, which may

be difficult to determine with any reliability: the higher the cost of
capital, the lower the NPV.



The advantages and disadvantages of
the IRR

Advantages
P It considers the time value of money by using discount factors.

» It includes all the net cash flows from the whole life of the capital
project.

» Greater importance is given to eatlier cash flows.

Disadvantages
P It is more complex to calculate than the payback and ARR methods.

P The life of the project is difficult to predict.

» Inflows and outflows are difficult to predict.
¢ the life of the project.

» The current cost of capital may change ove

» The calculation requires an element of trial and error to find 2

positive NPV and a negative NPV.

» Itis not 100 per cent accurate.



Sensitivity analysis

Sensitivity analysis is an assessment of what could
I

8 g° erng w“
project. It measures the effect on o Variable tlemen, ; an gy
there is a change in another, For ¢

Nappro;
Ple, whis would b, PPraisy) ¢
inflows if a key customer pyljeq out?

: Y N to ¢
ith €apita] jn . e ash
. . - » r e
sensitivity analysis measures the effe, ont

. CCIBJ()n to ichgt ?F:;:d.
are changes to the cash inflows op Outflows, Y capity] inVestmm .
involve large amounts of Money ang long Period, ity rame N
for the lfe of the invesrmcm can, d’C!‘Cforc, be difﬁcult and Potent'irilg
unreliable. Sensitivicy analysis rrjeg Ascertain by, Sitive zp, 7
investment i to changes that affect ¢ TECasts by ¢, lating gigr
outcomes based oy levels of risk, 8 differep,

- The finance TEC0r has agkeq
i n the likelihgod thac the coq, of capita] oy 4
be higher op lower. The g lowing SUMmary hag bee,, Prepared
Discount Risk Net presen;

factor value $m
8.5% 58
9% 0% 5.3

9.5% 5% 48
0% - gy 32
105% ° 75% 1.1
1% 6% (08
11.5% 50% 24

The summary illustrates tha,

1s 50- T cent
ctors close to chis assumprion. However, there is 5065 pe

i i be
nce that the cost of capital would be too high for che project to
Worthwhﬂc, Causing a negarive net present value,

. » l
Writing a report on a potential capita
investment

; ical investment
i ' rt on a potential capical in¥ of
e S L
i Ing a capital investment I:;lr:ljzc Jimitations of inves
not.'When eval::n fwcr of the bcncﬁ” and  on-financia facrors.
o glz:e ¥ b'ectdmionrdcring both financial an
i the project, |

.
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the workfo :
carbon b l‘Ct‘.Wll'l have to be trained fhow to use the new machine. The
TPFINC i3 expected 1o be larger with this machine.

Report contencs should include, among ocher factors, the following,
Financial considerations

> .I:hc payback and discounted payback periods are in a short period of
time and before cthe debt has to repaid to the bank.

» The training of the workforce will cost time and money.

P There will be interest to pay on the debt. Was this included in the
outflows? If not it is an extra cost that needs ro be considered.

> Borrowing for this machine may reduce the opportunities for
borrowing to fund other areas of the business (e.g: health and safecy).

» How long is the machine expected to last — will it need replacing not
long after the payback period?

» Can the machine be leased and not purchased? This may be a ;heapcr
option which will mean chat there is no need to borrow from the

bank. This will aid cash flow as no interest charges are paid.
» The NPV is positive ar a cost of capital of 10 per cent.

» The ARR is 50 per cen for this investment project.

» ThelRRis higher than the cost of capital, so the project should be
selected. .

Non-financial considerations

P Some of the staff may feel threatened by the introduction‘of a new
machine and may resist change by not wanting to be retrained.

> Seaff may fear being replaced by the machine and may be demorivated
by the lack of money put into other areas of the business.

> Scaff may be concerned at the lack of liquidity within dlc. business
and may be concerned that there will be no future wage rises or
productivity bonuses. This could cause a fall in morale.

> How much disruption will there be while the machine is being replaced?

> Can the production process continue without the machine being
mph"jed? If not, then unless there are cheaper alternative replacement
Machines, this machine must be purchased.
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ﬂ]e main feamres OFCO .
1 Th ' nsxgnment dccounting are:
e COHS]gnOr reta:

ai . .

18 Possession of the goods until they are sold
as Importane implications for the way
N8 are recorded.

by the consignee,
consignmens transacej,

2 It is usua] fO
iy .
invoice, Thj dthe cOnsignor to send the consignee a pro-forma
informar; : bOCumem provides the consignee with detailed
on about the goods in the consignment. Unlike an ordinary

Invoice j i ,
ce 1t does Aot noufy the consignee that any payment is due.

3 When the consignee sells goods an account sales is sent to the _

consignor, Thjs document informs the consignor of the amount
due from the consignee based on the sales proceeds less the

CORSignee'S eXpenses. —mmm———
\

. ) .. _ i is a
4 The consignee’s reward for acting as an agent for the consignor
commission based on the sale proceeds.
. ibili ran
5 In some cases, the consignee agrees to take respons:bd;ty i;/h er); .
irrecoverable debts that may arise from the sale of goods.

' ' itional reward
- arrangement is made, the consignee receives an adchngnalhat -
called a del credere commission. Any 1'rrecoverabl<:i ie ts t; warise n
' otr
these circumstances are a loss to the consignee and do n

amount owed by the consignee to the consignor.

i ing records
Consignor’s accounting

ions
1] use the following accounts to record transactio
The consignor wi
- jonment: ‘ ‘
relating to a consign ds
g pwards account: t0 record the value of any goo
: u
» Consignment 0

ignee. .
sent (o 2 consign f consignee) account: to record all income
0

e )
» Consignment to (nam the consignment. The balance of this

ing 0 :
and expenses - fit or loss on the consignment.

e pro
esents th ‘ .
dccount repr o S bose of this personal account is to
> Consignee account

GLeiY S
df: efg;lrpche consignee and settlements made by
record the amount
the consignee-

» e
Y R S



LyuLes:

or loss) o the ¢ NSignmen; Account (E) fepresents a profiy
€ co gNment apq i transferred o the consignor's
INcome State ent,
. 2 Acthe end of the Consigngy's financiy year, the consignment
. Outwards Ccount {5 close by transfer o 1

A Separate record of p

rohits on thege good
books (the consignm

ent account)

L

Any loss in the valye of inventory is'not recorded in the accounts.
Any loss of inventory or dama i

on the consignment as the sal
otherwise have been.

Consignee’s accounting records

v ignment, so the
ignee never owns the goods received on consignment,
[he consign . o
l accounting records requlred are as follow
only Il

/
Pe

the consignor

1 ent.

( IﬂeC&’;(f the income from the consignm

. t(s)tore

1ssion accoun )/
» Commiss



ynsold inventory .
It is highly likely that some part of a consignment w;
end of the consignor'’s financial year. This inventory i
,ccordance with accounting concepts. As a result, it i
onsure that the value of the inventory takes account
of the goods but also any expenses incurred that re|

I be Unsold 5
S Val . ¢
of not just the ot
ate to those g00ds



Racios are used to analyse and interpret nanci dara for the interesteq
stakeholders. One of the most important groups of stakeholders for
4 limited company 1s the equity shareholders, who are particularly

incerested in the gearing, the general solvency of their business, and
the investment ratios. Equity shareholders are interested in the rerurn
on cheir investment which is variable and dependent on: the businesss
performance; whether the business has enough cash to survive everydsy
trading; plus the market value of the shares and the degree of risk

within the business.
Gearing
Gearing ratio

Iring is the : . . iral
FG‘ caring is thé relationship between fixed cost capital and roral cap!
Du;ed cost capital is made up of debentures and preference shes.vn‘:S{)1 a
| _ ' e
i “Nture hOlders receive a fixed rate of interest however proﬁta



are firse uged
and the preference f;.. used to pay both the debenture ing
ce dw'dt“d“' with equity shareholders divide:dcsr Zs:ing

dependent ..
on the remaining levels of profit and the availability of cash

ds. Gearing ;
) g 1s, therefore, | ;
measures the level of rigk Impoctant to an equity shareholder as it

Gearing is calculared -

Fixed Cost capirtal

‘ Total capital
Alternatively it can be expanded to;

x 100

Non- 1abiliti
currenc liabilitjes 4 Preference share capital

Issued ordinary share capital + All reserves +

on-current liabilities + Preference shares
Using the information provided for Assessment Ltd, the gearing ratio is:
20000 + 10 000
136 200 + 20 000

%m the ratio is less than 50 per cent, the business has low gearing,
This means thar it has low borrowing or low fixed cost capital as a
- proportion of its total capital and long-term finance.

» 19.2 per cen of its rotal capital is provided by people other than
ordinary equity shareholders

P 80.8 per cent of capital employed is provided by ordinary equity
shareholders.

An equity shareholder is paid after both debenture interest and
preference dividends have been paid. The higher the proportion of total
capital that comprises these, the lower the amount of profit available for

equity shareholders.

Therefore, it is not in the interest of equity shareholders to invest in a low-

geared busi peciall in times of high
business, es y when profits are low. However, in times ot hig
profits the amount paid to debenture holders and preference shareholders

remains fixed, so ordinary shareholders will receive a greater return.
Investment in a Iow-geared business has less risk than that in a high-

i iness is high- becomes unable to pay
geared business. If a business s high-geared and becom:
its long—cl::r!rll debes, it is likely to be forced into liquidation by those

long-term capital providers.
it difficult to borrow further

) : find
Also, a h:gh'g'-““l business may i also be reluctant to lend further

because of this risk. Banks may |
tiu;isch a bus:n;s as they may feel that finance should be provided by

the ordinary shareholders themselves.

| : ikelihood of high interest
Plus, the higher the gearing, the greater the like ' B
payments, l“g,:ich will further reduce the proht available to be used for

dividend payments to the ordinary shareholders.

x 100

x 100 = 19.2%




Gearing ratio ! Description t Borrowing

' ' D
Greater than 80% High gearing High borfowing High d::t
Less than 50%  Low gearing - Low barmowing Loy deb:
50% Neutral- ~ Medium ~ MediUm

To reduce gearing, a business can:
p issue new ordinary shares -

p redeem debentures

p retain profits.

To increase gearing, a business can:

p issue debentures

p buy back ordinary shares in issue

p issue new preference shares.
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olders, which

Investment ratios

There are various ratios, particularly used by equity shareh
indicate how well a business is doing in relation to its shares.

Earnings per share ratio

This is the most frequently used investment ¢

b;sr view of performance. Earnings per share
of the company’s profit can be attributed to €2

o jyes the
atio as 1t generallY d

(EP S) indicates how mu

ch issued equitf l

:

It is used to compare:

over 2 number of ¥
nst the

o agil
b the performance of one companys equity shaes

. res |
Performance of another cornpaﬂY’S equity o A

P the results of one particular comparny



» the earnings agai
s agains - -
gs against a return available from alternagi nts
Earnings are calc - ve invesem €l
of rcfcgrcncc hLUL‘:;'Cd' as the profit after tax and afrer the d
P share dividends. That is the earnin i e deduction
shareholders. gs relevant to equity

The ratio is calculated as:
Profic after tax and preference dividends in cents

Number of ordinary shares

Erom the results for Assessment Ltd:
34300006
~ooug " O 6¢ (ie $0.686)
This means that each equity share earns 68.6¢ during the year. This
does not represent actual cash in the form of dividends but the profit
ateributable to equity shareholders.

Price/earnings (P/E) ratio
The price earnings (P/E) ratio compares the market price of the shares
to the earnings per share. It puts price into context as multiple of
earnings. It represents the number of years' earnings that investors are
prepared to pay t© purchase one of the company's shares.

the greater the demand for shares and so the

The higher the ratio,
greater the confidence investors have in the future of the business.
A low P/E means that there is little demand for the shares. The ratio
enables poten:ial investors to assess whether the expected future
earnings make the share a worthwhile investment.
The radio is calculated as:
Market price per ordinary share in cents
Earnings per share in cents
eis $3.43,

For Assessment Ltd, if the market price of one equity shar

then the P/E ratio is:
343

-5

68.6
f the

'ﬂ"S means that it takes five years to recover the market price 0
3 . . . . 8
ares with earnings. Buyers are paying five times the earnings to

acquire shares in Assessment Ltd.
Any | - :
uz{ ";}Cfue:fc in the market price of an equity share will increase the
& an.in :r Iy an increase in the market price of shares is in response
confid ease in the demand for the shares. Demand increases s
ence increases:
P/E ratio indj
ratio indicates expected growth in the furure

b 2loy
P/E tatio ind:car:
ratio indicares expected poor performance in the fucure.

e s FIEY A



Divideng vield ratio

Sharehaolders invest in businesses for tWO reasong:
» o gain an annual return on their investmen i, the form of 4.
o d“”dtndg

» to make a capirtal gain when selling the shares With an increaqe :
their market valye, 3¢ 1n

Dividend yield measures the real rate of retuen of an ordinary s

comparing the dividend paid to the market price of 3 share, Zsh:::,bz,
percentage recurn an investor can expect based on the curremt e

market price and so expresses the actual dividend a5 5 Percentage of (},,

current market price of the share.

The ratio is calculated as:
Tortal ordinary dividend paid
Marcket price of all equity shares
For Assessment Ltd the market price was $3.43 per equity share, There
are 50 000 shares, so the macker price of all equiry shares is;

3.43 x 50 000 = $171 500

x 100

x 100 = 3.27%

The ratio is, ctherefore:
$171 500

This yield is low, especially given the high earnings per share. It appears
thar the earnings are not being passed on to the equity shareholders.

Another approach to calculate this ratio is:

Declared rate of dividend x Nominal value of equity shares
Market price of ordinary shares

=0.112¢

The dividend per share is 35600
50 000
0.112 x (1/3.43) x 100 = 3.27%

Dividend cover ratio | | o
As ordinary dividends vary with the level of profit, an investor lsao its
concerned as to whether a company will be able to contl.n}:; :Od Pw);cr
current rate of ordinary share dividend in the future. Divide )

b
gives this indication by comparing the amount of ?roﬁ; ?:b“y‘gmyn .
an ordinary share with the amount of dividend pald»tL cofdjnar)'
the shareholder some idea as to the proporci.on th;z deisnibudO“ s
dividends bear compared to the amount available for

ordinary shareholders.
The rario is calculated as:
| Profis available for ordinary dividends
Ordinary dividend paid
34300 _ ¢ 125 dmes

——

For Assessment Ltd, the ratio will be: 5600




This is quire h; h. A h:
company will b% ablehlgh Aigure ig

favourablc as it suggeses thar the

o contj i
tinue ¢o Pay the current level of ordinary

. . i rom the dividend ield, which showed
that despite a high CANINGS per share, the dividend ;ileld was low

and, therefore, the earnings were : ‘
not b
shareholder. Ot being passed on to the ordinary

POHCY' A small reduction in company profits may then have an adverse

effect on dividends in the future.

Dividend per share ratio

The dividend per share ratio indicates how much each ordinary share
¥ ctually received as a dividend.

'It is calculated as:
I Ordinary dividend paid
| Number of issued ordinary shares

For Assessment Ltd, the ratio will be: 0000~

h ordinary shareholder, therefore, received 11.2¢ per share held.
%:‘f (l):o uld be compared to previous years to see if there was an
im:r;vemcnt or decline in the rate paid out per share.



Working capital cycle ratio

The working capital cycle shows the length o

maki . . -
akmg a payment for goods raken into inventory and tho receip
mers. Obvmusly the

sohf::tsel:— iom.the sale of inventory 0 the custc ‘between buying

the i e time the better! If there is a long dem.’ > the money

- entory and then selling the goods and receiving b oth wichin an¢
the customers, this can cause cash flow problems >

Outsid
e ® '
the Workmg capn:al.

Th
¢ Would be a Jack of cash available to p3y for s of inventory fror

f rime taken between

Withj
Supplz,::h)e working capital (for example the purcha e ' che p chase
Fnop. 5) but also outside working capital (for examp S ofraxan i
Signiﬁ CUrrent assets, the repayment of a loan, the pay™

t of Jividends)-

Cang] ;
Y to an investor, the paymen



: d
If the cycle is short, then the value of working capiral to be finance
from other sources will be lower.

The cycle can be shortened by the business:

» reducing inventory levels held

> speeding up trade receivables collection period
> delaying Payment to trade payables.

The main reason that the cycle gets longer is that there is a quicker
Payment of trade payables,

The working capital cycle (in days) is calculared as either:
Trade receivables turnoyer (in days) + Inventory turnover (in days) -

Trade payab]es furnover (in days)
or: : |

Average collectiof per:
payment period

P ‘Trade receivables in days = 37 days

» Trade payables iy, days = 109 days

» Inventory turnover in days = 57 days
The working capital cycle i, therefore:

32452 - 109 = 25 days

This means thay the business i selling its inventory and collectii';g its
o0y in from the trade receivables within 84 days but then delays
Payment to trade payables by a further 25 davs.



The net working assets/revenue ratio

The net working assets/revenue ratio calculates the percentage of

revenue that is net working assets, where net working assets are
inventories + trade receivables — trade payables.

The ratio is calculated as:

Net working assets

x 100

Revenue |
. For Assessment Ltd, the ratio would be:

12500 + 16 800 - 25 500

x 100 = 1.98%

y dollar of revenue, there are nearly two cents
~of net working assets, which appears to be low. In other words, the

value of ner assets is 1.98 per cent of each $1 of revenue. This could be
Improved upon,



The role of auditors

The law requires thar limited com
annually. (Tt should be noged that

om this requirement.)
not the directors; it is to

year. This legal requirem
have confidence that the
giving them a true and
in a good position to

panies have their accounts audited
usually smaller companies are exempt
It is the shareholders who appoint the auditors,
the shareholders that the auditors report every
ent is designed to ensure that sh'areholders can
stewards of the company (the directors) are
fair view of the company’s affairs, so that they are
make valid decisions about their investment.

The law requires auditors to do the following:
» Provide an ind

ependent check of the company’s accounting records.
In order for th

is to happen, it is important that auditors are not
influenced in any way by the directors of the company.

» Carry out their duties objectively, so that their opinions and

judgments are based on evidence that they have been able to verify
during the course of their work. ’

P Ensure that the accounts comply with current accounting standards
and the requirements of the Companies Acts.

'» Ensure that the accounts provide shareholders with a true and fair
view of the company’s financial position,

» Ensure that the accounts are free from significane errors.

In order to carry out their responsibilities, the law requires auditors
to be suitably qualified and to be given reasonable access to the

: ichin
company’s accounting records and to have questions answered within
a reasonable time.

g
Internal and external audits -

. , : -
The independent audit described above is sometimes .referrcd to -
external audit. It is also usual for large-scale organisarions to ca.rr'z o

internal audits. Internal audits are conducted by the organisation




The auditors’ report

A company’s annual report must contain a report from the auditors.
Usually this is quite a short statement. The most important part of the
teport is the auditors’ opinion that the financial statements:

P give a true and fair view of the company’s affairs

» have been properly prepared in accordance with international
ccounting standards
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P comply with the requirements of the Companies Acts.

A statemen like this, where there are no reservacions, is called ap
unqualified report.

The report will also include the following:
» anote that clarifies the roles of the auditors and directors

» astatement abou the scope of the audit which explains how it was
conducted and confirming that the audit provides a sound basis for
the auditors' opinion.

Whete applicable the teport will include any reservations the auditors
may have, for example:

P if there are significant inconsistencies and/or errors in the financial
statements

» if the financial statements are misleading in any way

» if the directors’ report contains statements which are inconsistent
with the auditors' view of the company's affairs.

Where a report contains reservations, it is referred to as a qualified
report,

The role of the directors

Direcrors are appointed by the shareholders. Their main responsibilities
to shareholders include the following:

P The maintenance of proper accounting records which enable
financial statements to be prepared in accordance with the
requirements of the Companies Acts and international accounting

standards.
P Preparing annual financial statements, i.e.:
P income statement
P statement of changes in equity
» statement of financial position
P stacement of cash flows.
P Taking care of the company'’s resources.
» Deciding the company’s accounting policies.
» Implementing suitable accounting controls.
» Confirming that accounting standards have been followed.

» Supporting the work of auditors by providing reasonable access ©©
accounting records and responding to questions raised.

P Preparing an annual report to shareholders on the way in thhdwif
they have managed the company, i.e. how they have discharged
stewardship role (the directors’ report).



The d’mctor'n report

The Companijes A i
cr 2006 fequires thar ¢ directors of rhe . ompany

prepare a repore ar the end
of
shareholdcn, € main cont e ﬁnlnq;] year for submission 1o the
nes of the direcrory’ report are as follows;

> A stacement of rhe affai
) rs of the com . .
monetary s Pany, which may include non-
g h‘ghhgh“d by the financial urathcnu.

> -rhepfl'nci al activie:
e duri:.g thet;"::r.ea il €ompany and any significant changes

» A statement of employees’ involy ——
» information
P consultation
» common awareness,
» Details of own shares pﬁrchased or charged.
» Non-current assets:
P significant changes
P any difference between book value and market value of land.
» Proposed dividends.
P Transfers to reserves.
P A statement of policy on:
P the health and safety of employees

P disabled persons. |
» Details of political and charitable donations.
» Details of any directors serving during the year,

including:

» name
» interests in the shares of the company

. . thc yur.
P share options gr anted or exercised during ¢ of suppl
: 's policy on the payment ‘
> Decals ofthe compary* ¥ development being carried out.

» Information on research and
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